


NOEXSFRENNER
— Rl

I pE
I E S

Bt Tk Kk 2% AR A
199611 A W%



(BOFHE=F 009 8

[HEENT] PR EEEHOCREREHF RGO MARERFEAR
FRAMGEN. £HHAE T EEIGKE. B K 7T ARE RGP ZRK
FER, R, 2SBMRAEAEEREEBDREGOAEREZRE. EEMKT
B i

A HEHTF CET -6 4 thalfE A5 4 . WSK(EPT) . TOEFL %% 4 )

ERiZHH.

2000 £ KEXRIEARRWE
— & UE
SR
EXH HFEF
HEH
*
©1999  FHAL Tl K% i AR AR B AT
(HB%i:710072 PEEWAIHPR 1275  H15:8493844)
2EEMKEL RS
TR BN
ISBN 7-5612-0951-7/H « 68

FFA .787X1092 ZEXK 1/32 EP3K:10.125 F¥.215 TF
19994 11 A% 1 1R 1999 4E 11 A58 1 KENRI
EN¥:1-—-5 000 FEAM:10.00 T

W S A4 o H A P43 B Gl BT AR TR AR R AT R SR T



ALRSBEHO(REEERERN)
MHEH, BHEETAEERNTEER,
LEMRERAEUTEA:

1L MATHLCEEE. B TFAREEN
BHRENNERBENBNER. A2 RE
REAEER (FEIB)KH) A REEEH
% K %)F ¥4 TOEFL RAE, & 243 0 7 7
CEEE. AT —/MRABAIAL.

2. 3 243 i B S AR O B FIIRE . A
B T — WA T Z R SCE, T 5
BRI, K T il b T i R
R Lo A5, DAY SR A AR R b B D L T AR
B,

3. WABME ARSI ES N
5y AEM A REN , B A M BN X EEE
BROEME MRESARE. EENET,
FEELEBMNS.ES. TEN K. AT
HRBEURKNEMIRARS. HEAR
KER, E—BAEFRAARTANS H
ERER, S -HBAMNEFMALICICREA

. 1 .



HNAE. EZKE ST Script FHABERH HARKS %,
FHERAEBIBHITHEZNREUT  BEAEFH

150 iE LA b, &IE IE ¥ X FRiEHE.
FHWAERRRERZL  BFREMIFIEE.

h X
19994 9 A



Test One
Test Two

Test Four

Test Seven

Test Ten

Answer Keys

+ 25
Test Three 00000000000 000000000000 000000000 s0s R0

.|
=

« 72
TPost Five wesessssnses sissibiss vavnsnsesneintonsasasies
Pest Sist: wesesnisrsinssesslisiies sesimesians nasisssons §osss
- 144
Test Eight «eeeeereneeresersesissnnenneninininnnns
Test Nine #ssssesweissssnssnssnsssnssssssnsbsnsssors

95
119

166
190

- 214
- 238



Test One

Part I Listening Comprehension (20 minutes)
Section A
Directions: In this section you will hear 10 short conversa-
tions. At the end of each conversation, a question
will be asked about what was said. Each conver-
sation and question will be spoken only once. Af-
ter each question there will be a pause. During
the pause, you must read the four suggested an-
swers marked (A), (B), (C) and (D), and de-
cide which is the best answer. Then mark the cor-
responding letter on the Answer Sheet with a sin-
gle line through the centre.
Example: You will hear:
You will read :
(A) 2 hours.
(B) 3 hours.
(C) 4 hours.
(D) 5 hours.
From the conversation we know that the two are talking
1>



about some work they will start at 9 o’ clock in the morning
and have to finish at 2 in the afternoon. Therefore, (D) “5
hours” is the correct answer. You should choose answer [D]
on the Answer Sheet and mark it with a single line through

the centre.

Sample Answer [AJ[B][C][D]

1. (A) Five. (B) Four. ' (C) Three. (D) Two.
2. (A) Australia. (B) New Zealand.

(C) The Philippines. (D) The United States.
3. (A) Larry. (B) Larry’s mother.

(C) Bill’s mother. (D) Bill’s teacher.

4. (A) The cinema is made of stone.
A (B) The cinema is very near.
(C) The cinema is popular.
(D) The cinema is large.
5. (A) He wouldn’t go because he didn’t {eel well.
(B) He would go though he was sick.
(C) He wouldn’t go because he didn’t like Susan.
(D) He would go because that exercise might do him
good.
6. (A) Both the man and the woman can read French.
(B) The woman reads French more quickly than the
man.
(C) The woman will help the man translate the stories
into English.
« D



(D) The man will help the woman translate the stories
into English.
7. (A) It is as stable as the summer one.
(B) It is stable from August to November.
(C) It changes steadily.
(D) It is as stable as the winter one.
8. (A) A late-model toy train.
(B) An old broken train.
(C) An antique toy.
(D) A delicate antique.
9. (A) Medicine.
(B) Social problem.
(C) Producing drug.
(D) Create new kinds of drugs.
10.(A) Making an appointment.
(B) How to use a library.
(C) Studying in an American university.
(D) Coming back at 3 : 30.
Section B
Directions: In this section, you will hear 3 short passages. At
the end of each passage, you will hear some ques-
tions. Both the passage and the questions will be
spoken only once. After you hear one question,
you must choose the best answer from the four
choices marked (A), (B), (C) and (D). Then
mark the corresponding letter on the Answer Sheet

«3e



with a single line through the centre.
Questions 11 to 13 are based on the passage you’ ve just
heard.
11.(A) 2. 4 children. (B) 2 children.
(C) 4. 2 children. (D) 4 children.
12.(A) They are usually quite small.
(B) They usually stand in rows.
(C) They have front and back gardens.
(D) They are not so common as flats or apartments in
Britain.
13.(A) To make money.
(B) To guard the house.
(C) To enjoy their company.
(D) To keep them for their grandparents.
Questions 14 to 16 are based on the passage you’ ve just
heard.
14. (A) They are inadequate to bring about any kind of im-
age.
(B) They are adequate to describe a picture.
(C) They can be more meaningful than any number of
pictures.
(D) They can not ignite the imagination.
15. (A) Think abstractly.
(B) Use technology.
(C) Write poetry.
(D) Paint abstract words.
“fo



16.

(A) Electronic communication.
(B) The printed page.

(C) The theater.

(D) Debate.

Questions 17 to 20 are based on the passage you’ ve just
heard.

17.

18.

19;

20.

(A) Tennis is often seen on TV.

(B) Tennis clothing has become an important fashion
item.

(C) There are more and more tennis court.

(D) Sporting goods stores are selling more tennis equip-
ment.

(A) Indoors.

(B) Everywhere.

(C) At country clubs.

(D) On the roofs of skyscrapers.

(A) He wore his crown when he played.

(B) He was a comedian.

(C) He was overweight.

(D) He played poorly.

(A) They wanted to follow the example of the French.

(B) Woman players didn’t wear enough clothing.

(C) Too many people played tennis on Sunday.

(D) The king didn’t like tennis.
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Part I Reading Comprehension (35 minutes)

Directions: There are 4 reading passages in this part. Each
passage is followed by some questions or unfin-
ished statements. For each of them there are four
choices anarked (A), (B), (C) and (D). You
should decide on the best choice and mark the cor-
responding letter on the Answer Sheet with a sin-
gle line through the centre.

Questions 21 to 25 are based on the following passage:

It is in the joints of the human body that movements of
the bones take place. The movement itself is caused by the
pull of sheets and cords of very tough [s/s:e\ alled muscle.
Muscle txMec:al ability tol_xs;wwg,(ﬁ 1tseﬁ‘so that
the bone on which it pulls has to move. When muscle tissue
shortens, it also bunches up. Muscle tissue covers the body

Py /
in sheets and bands that{li¢ hetween the skin and the skele;
; < e

i j_tj’n. The bones are the framework of the body, but the

elitn

muscles {ill out the body shape. Most muscles extend {from

one bone to another. When the muscle between the bones
. e

shortens, one bone has to move. The point where the mus-

cle is {fastened to the unmoving bone is called the orlgm of
-~ ’_\

the muscle, whq/rth the point where the mus fastened

PR, SR

to the bone that is to be moved is called the jusertion. Some-

times the muscle is noj@hed directly to the bone but to a

tough, nonstretchablesord, or t;endo\g, that is attached to

the bone.
e 6 o



Muscles do not push; they'can only pull. To bend the

arm at the elbow, the muscle at the front of the upper arm
has to shorten and bunch up. To unbend the arm, other

muscles in the back of the arm have to shorten. These two

sets of muscles—the front and the back—are s’lg,tg_act&_,_\
W. When one set is working, the oth-
er set is usually relaxed But there are times when both of
them work Sometlmes muscles are gall ; do more

than snmply pull in.one direction. ThM_o_p%,rIQm_

a turning motion. To be able to do this, the muscle must be

am a@arg ag le. By pulling, the muscle can

cause the bone to Cﬁz .
@W&Whe diaphfagm,

for example, forces the lungs to take in air. This part of
breathing is not primarily a bone-moving operation.
21. What is the main subject of the passage?

(A) How human muscle develops.
}7 (B) The differences between major muscle groups in the
e human body.
(€),Problems with human muscles. \/
@/) The anatomy and operation of human muscles.
22. According't,o the passage, movement occurs when a

muscle I: 3
(A) grows shortens

(C) relaxes ) pushes
23. The point at which a muscle is attached to the bone that
. 7 .



moves is called the E .J

(A) source d (B) insertion

(C) tendon (D) diaphragm
24. The phrase “called upon” (Para. 2, Line 8) is closest in

me7ning to which of the following? A

(AD Required. (B) Visited. /

(C) Permitted. (D) Subjected.

25. The passage implies that reversing the muscle-bone

movement used to bend an arm requires % T}:

the relaxation of two sets of muscles

B) the use of different muscles

(C) a different kind of tissue

) the enlargement of the muscle
Questions 26 to 30 are based on the fqllowing passage:

The word conservation has a t ;1 ty meaning. To con-
serve is to save and ;rotect, to leave vﬁfm?gﬁ"e ourselves en-
joy in such good condition that others may also share the en-
joyment. Our forefathers had no idea that human population
would increase faster than the supplies of raw matcrial\s;
most of them, even until very recently, had the foolish idea
that the treasures were “limitless” and “inexhaustible”.

Most of the citizens of earlier generations knew little or

—_—
nothing about licated and delicate system that runs
all through nature, and which means that, as ima tw
body, an unhealthy condition of one part will sooner or later

be harmful to all the others.
B



Fifty years ago nature study was not part of th

: o i 1N .
work; scientific fo es was a new idea; (timher was still
cheap because it could be brought in any quantity from dis-
tant woodlandsj soil destruction and river floods were not

national problems; nobody had yet studied long-term cli-

- . N
matic cycles in relation to proper land use; even the word

“conservation” had nothing of the meaning that it has for us

I

today. T
For the sake of ourselves and those who will come after

us, we must now set about repairing the mistakes of our
forefathers. Conservation shoulds therefore, be made a part
of everyone’s daily life. To know about the water table in
the ground is just as important to us as a knowledge of the
basic a\rithmetic formulas. We need to know why all water-
sheds nm of plant life and why the running
current of streams and rivers must be made to yield their full
benefit to the soil before they {inally escape to the seca. We
need to be taught the duty of planting trees as well as of cut-
ting them. We need to know the importance of big, mature
trees, because living space for most of man’s fellow crea-

“surface but also in cubic volume above the earth. In brief, it
minal beauty
of nature as we can.
26. The author’s attitude towards thw

G



(A) positive (B) gpeutral
(C) suspicious @fcritical
27. According to the author, the greatest mistake of our
//;/ forefathers was that
~ (A) they had no idea about scientific forestry
B) they had little or no sense of environmental protec-
tion
(C) they were not aware of the significance of nature
study
@)}hgy had no idea of how to make good use of raw
materials e
28. It can be inferred from the fthird paragraph that earlier
gencrations didn’t realize
%/{ the interdependence of water, soil, and living
things
@fﬂle importance of the proper use of land
(C) the harmfulness of soil destruction and river {loods
(D) the value of the beauty of nature
29. To avoid the mistakes of our forefathers, the author
suggests that
(A) we plant more trees
(B) natural sciences be taught to everybody
<) elivironmental education be directed toward every-
one
(D) we return to nature h
30. What does the author imply by saying “living space-+-is
« 10



figured---also in cubic volume above the earth” (Para.
3, Lines 12~15)?
(A) Our living space on the earth is getting smaller and
smaller.
(B) Our living space should be measured in cubic vol-
ume.
(C) We need to take some measures to protect space.
(D) We must preserve good living conditions for both
birds and animals.
Questions 31 to 35 are based on the following passage:
National parties in the United States have generally
been weak in structure and wary of ideology. Man(writers
have said that American parties are the leastcentrali2ed i
the world. However, the argument that paM'
represented significant differences in policy can be pushed
too far. For example, in this century, at least, the Republi-

cans have been more committed than the Democrats to a

market-oriented economy, while the Democrats have been
more prepared to use government to address economic prob-
lems. Within both parties there has been wide variance on
issues, but in general the Republicans have been the more
conservative and the Democrats the more liberal.

Both parties, however, have resisted reducing these
tendencies in their social, economic, and moral belief sys-
tems to a rigid ideology. And neither, until recently, vested
much authority in its national party structure.

<1l



